
Installation Guide
V1.0

Page 1-4

LED Made in China / Hecho en China / Fabriqué en Chine

P100054 Pole Mount 
(Sold Separately)

(2)M8*16 socket hexagon screw (2)Spring washer (2)Flat washer

Inside the Box Accessaries
Pole Mount

Wall Mount

(2)M8*16 socket 
hexagon screw

(1)Cover plate (2)Spring washer (2)Flat washer (3)M4*30 Round head 
self tapping screw

(3)Plastic expansion
 tube



1

2

3

Adjust the CCT with switch according to 
your requirement.

Ajuste el CCT con interruptor de acuerdo con
su requerimiento

Réglez le CCT avec le commutateur en
fonction de votre exigence.

Mount the arm to fixture body with 
(2)M8*16 socket hexagon screws.

Monte el brazo en el cuerpo de la luminaria con
(2) tornillos hexagonales M8*16.

Montez le bras sur le corps du luminaire avec
(2) vis à six pans creux M8 * 16.

3K
4K
5K

ON

OFF

Installation Guide
V1.0

Page 2-4

Pole Mount

(2)M8*16 socket hexagon screw

(2)Spring washer

(2)Flat washer

3K
4K
5K

Choose photocell function by ON/OFF switch. 
ON means enable photocell. OFF means
disable photocell.

Elija la función de fotocélula mediante el 
interruptor ON/OFF.
ON significa habilitar la fotocélula. APAGADO 
significa
desactivar la fotocélula.

Choisissez la fonction photocellule avec l'interrup-
teur marche/arrêt.
ON signifie activer la photocellule. ARRÊT signifie 
désactiver la photocellule.

Pole Diameter 1.6” 



Installation Guide
V1.0

Page 3-4

4

Pink

Connect the wires as left wiring diagram.

Conecte los cables como se muestra en el diagrama de 
cableado de la izquierda.

Connectez les fils selon le schéma de câblage de gauche.

Wall Mount

1

2

Through cable to hole in cover plate, fix the cover plate with 
(2)M8*16 socket hexagon screws.

A través del cable al orificio de la placa de cubierta, fije la
placa de cubierta con (2) tornillos hexagonales M8*16.

À travers le câble jusqu'au trou dans la plaque de couverture,
fixez la plaque de couverture avec (2) vis à six pans 
creux M8 * 16.

(2)M8*16 socket hexagon screw

Punch holes in the wall, put (3)plastic expansion tubes 
in holes, and screw fixture to the wall with (3)M4*30 Round 
head self tapping screws.

Haga agujeros en la pared, coloque (3) tubos de expansión
de plástico en los agujeros y atornille la fijación a la 
pared con (3)M4*30 Redondo tornillos autorroscantes
de cabeza.

Percez des trous dans le mur, placez (3) tubes d'expansion
en plastique dans les trous et visser le luminaire au mur
avec (3) M4 * 30 Round vis autotaraudeuses à tête

(3)M4*30 Round head self tapping screw

(3)plastic expansion tubes



Installation Guide
V1.0

Page 4-4

3

Pink

Connect the wires as left wiring diagram.

Conecte los cables como se muestra en el diagrama
de cableado de la izquierda.

Connectez les fils selon le schéma de câblage de gauche.

4
Adjust the CCT with switch according to 
your requirement.

Ajuste el CCT con interruptor de acuerdo con
su requerimiento

Réglez le CCT avec le commutateur en fonction de
votre exigence.

Choose photocell function by ON/OFF switch. 
ON means enable photocell. OFF means
disable photocell.

Elija la función de fotocélula mediante el 
interruptor ON/OFF. ON significa habilitar la 
fotocélula. APAGADO significa desactivar
la fotocélula.

Choisissez la fonction photocellule avec
l'interrupteur marche/arrêt. ON signifie 
activer la photocellule. ARRÊT signifie
désactiver la photocellule.

5
ON

OFF

3K
4K
5K


